https://lwww.leads4pass.com/s10-101.html

L eads 4 PGSS 2024 Latest leads4pass S10-101 PDF and VCE dumps Download

S10-10109%As

Snia Storage Network Foundations Exam

Pass SNIA S10-101 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.leads4pass.com/s10-101.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by SNIA
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest S10-101 Dumps | S10-101 PDF Dumps | S10-101 Practice Test 1/6


https://www.leads4pass.com/s10-101.html
https://www.leads4pass.com/s10-101.html
https://www.leads4pass.com/s10-101.html

https://lwww.leads4pass.com/s10-101.html
2024 Latest leads4pass S10-101 PDF and VCE dumps Download

QUESTION 1

What is the function of the "head" on the disk drive?

A. Itis used to read or write data onto the disk media

B. It is used to seek to the area where the requested data is located
C. Itis where the data is stored or retrieved

D. Itis a standard unit of measurement on the disk media

Correct Answer: A

QUESTION 2

What describes the basic rpm and storage capacity of an enterprise class disk drive when compared to entry level disk
drives?

A. lower rpm and higher storage capacity
B. higher rpm and higher storage capacity
C. lower rpm and lower storage capacity

D. higher rpm and lower storage capacity

Correct Answer: D

QUESTION 3

Which tier provides highest availability and highest performance?
A. tier 4

B. tier 3

C. tier 2

D. tier 1

Correct Answer: D

QUESTION 4

Which are two benefits of using storage based replication? (Choose two)
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A. minimal or no host and network load
B. host software dependent

C. host platform independent

D. storage platform independent

E. minimal storage network load

Correct Answer: AC

QUESTION 5

Which tier provides highest availability and highest performance?
A. tier 4

B. tier 3

C. tier 2

D. tier 1

Correct Answer: D

QUESTION 6

Which statement describes the "cylinder" in the disk drive?

A. where the data is stored or retrieved

B. Used to read or write data on to the disk media

C. Used to seek to the area where the requested data is located\\'
D. A group of concentric slices through the physical disks.

Correct Answer: D

QUESTION 7

Which three types of disk would be used to run your company OLTP application? (Choose three)
A. SCSI

B. SATA

C. SAS
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D. ATA
E. Fibre Channel

Correct Answer: ACE

QUESTION 8

What is the maximum distance of 9 micrometer singlemode fiber a 1300nm longware laser at 4 Gbps?
A. > 50k meters

B. 10k meters

C. 5 k meters

D. 2k meters

Correct Answer: A

QUESTION 9

Which disk drive interfaces are considered to be parallel interfaces? (Choose two)
A. SCSI

B. SATA

C. SAS

D. ATA

E. Fibre Channel

Correct Answer: AD

QUESTION 10

What is the service provided by a disk array?
A. SAN management services

B. zoning services

C. virtualizing phycal storage devices

D. name services
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Correct Answer: C

QUESTION 11

Which bus requires proper termination for stable operation?
A. SAS

B. Fibre Channel

C. SATA

D. SCslI

Correct Answer: D

QUESTION 12

Which term describes a security measure designed to establish the validity of a transmission, message, or originator, or
a means of verifying an individual\\'s authorization to receive information?

A. encoding

B. encryption

C. authentication
D. crypto-shred

Correct Answer: C

QUESTION 13

What describes RAID 3?

A. Independent access with dedicated parity
B. parallel access with parity

C. independent access with interleaved parity
D. striping

Correct Answer: B

QUESTION 14
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From a business perspective a well managed archive is particularly important in which situation?
A. In the event of loss of power at the primary data center

B. When an administrator accidentally formats the wrong file system

C. In the event of litigation

D. When a user accidentally deletes an important email

Correct Answer: C

QUESTION 15

Common enterprise tape cartridges such as LTO or DLT contain which components?
A. leader pin, write protect switch, supply reel, access door

B. leader pin, read/write head assembly, supply reel, access door

C. leader pin write protect switch, supply reel, pickup reel

D. leader pin, read/write head assembly, supply reel, pickup door

Correct Answer: A
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